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Question Number : 1 Question Id : 1626531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the odd pair from the following.

Options:
|« Austria: Beying

- % Canada : Ottava

= % Japan : Tokyo

4 % Cuba: Havana

Question Number : 1 Question Id : 1626531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 1626532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the image from options that is similar to the below set of figures.
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Question Number : 2 Question Id : 1626532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 1626533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Given below are a few images. Identify the odd image among the options.
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Options:
1% A

2_$$B

Question Number : 3 Question Id : 1626533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 1626534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will come in place of question mark in the below series?
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Question Number : 4 Question Id : 1626534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 1626535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will come in place of question mark in the below series?
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Question Number : 5 Question Id : 1626535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 1626536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following graph shows information about the death rate because of dengue fever in a tribal village *Z’ for
the past 6 vears.
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During which period the death rate due to dengue fever has increased?
Options:
1 ® 2015-2016
> o 2016-2017
= % 2014-2015

4 % 2012-2014

Question Number : 6 Question Id : 1626536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 2015-2016
- v 2016-2017
- % 2014-2015

4 % 2012-2014

Question Number : 7 Question Id : 1626537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Spot the option figure that has the below figure embedded as part of it.
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Question Number : 7 Question Id : 1626537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 1626538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Study the following information carefully and answer the given questions.

For a recruitment process in an ACCOUNTING organization, the candidates need to possess the following
qualifications criteria:

i) He/she must be a graduate in commerce with at least 60% marks.
ii) He/she must be at least 24 vears of age and not more than 40 years as on 1-7-2016.

iii)  He/she must have a post-qualification work experience of at least 2 years.
iv)  He/she should have secured 55% marks in the selection process.

However, if the candidate fulfills the above-mentioned criteria except:

(A) at (1), and if the candidate is not a graduate in commerce but has a post-graduation degree in finance with minimum
of 60% marks, he/she should be referred to the Finance Manager of the organization.

(B) at (iii). and if the candidate fulfills all the eligibility criteria of post-qualification work experience but has secured
75% marks in the selection process. he/she may be referred to the Trainee Accountant.

Based on the above information, study carefully whether following candidates are eligible for the recruitment process
and mark your answer as follows. You are not to assume anything other than the information provided in each question.
All the cases are given to you as on 1-7-2016.

Snehlata’s date of birth is 6.2.1990. She has done her graduation and post-graduation in Commerce and secured 61%
and 63% marks respectively. She has a post-qualification work experience as a Senior Accountant of 3.5 years. She has
secured 58.5% marks in the selection process.

Options:
1 +« The candidate is to be selected

» % The candidate is not to be selected

= # [Ihe candidate may be referred to the Finance Manager

4 # The candidate may be referred to the Trainee Accountant

Question Number : 8 Question Id : 1626538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 1626539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

You encounter an angry customer at shopping mall quarreling with the staff of the store for unhygienic products. What
will be your most appropriate step?

Options:

, = Carry on with your work

> % Make an agitation and provoke all the customers to walk out of store

- » Throw out all the products of the mall

4 &
Bring the information to the notice of the mall authorities to take necessary action about hygiene of their products

Question Number : 9 Question Id : 1626539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 16265310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the transparent paper is folded at the dotted line, what will be the resulting figure?

Options:
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Question Number : 10 Question Id : 16265310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 16265311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the most appropriate option.

A computer must have:

Options:
1« Processor

- » Gaming consoles

3 % Printer

4 = CD/DVD player

Question Number : 11 Question Id : 16265311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 16265312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Study the following Venn diagram carefully and answer the question.

Gujarati e&% Marathi
52

Hindi

How many persons speak only two languages?

Options:
1 ® 63

4.¢ 94

Question Number : 12 Question Id : 16265312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 13 Question Id : 16265313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sadhana introduces Ramu as “The son of the brother of her father’s wife”. How is Ramu related to Sadhana?
Options:

1 « Cousin

- % Uncle
3 % Father

4 % Son

Question Number : 13 Question Id : 16265313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 16265314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If A stands for +, B stands for —. C stands for *, then what is the value of (6C5)A(14C2)B4?

Options:
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Question Number : 14 Question Id : 16265314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 16265315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In an examination, a student scores 4 marks for every correct answer and loses 1 mark for every wrong answer. If he
attempts all 80 questions and secures 200 marks, the number of questions he attempts correctly is:

Options:

1.+ 50

LAy

P2
g{
LMy
o

4 * 74

Question Number : 15 Question Id : 16265315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 16265316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The total of the ages of Anjali. Ankitha and Banu is 60 years. What was the total of their ages four years ago?

Options:

| % 50 years

48 years
62 years

75 years

Question Number : 16 Question Id : 16265316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 16265317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the words-pair in which the words are differently related than in other pairs of words.

Options:
1 % Error : Blunder

5 off Unhappy : Pleasure

z % Wish : Desire

4 % Moist: Drench

Question Number : 17 Question Id : 16265317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 16265318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Find the odd pair of numerical that does NOT hold same relation as the rest.

Options:
1 ® 5-4

Question Number : 18 Question Id : 16265318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 16265319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next term in the below number series?

Lzt 18: 32,80, F2.-7
Options:
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Question Number : 19 Question Id : 16265319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 v 98
o % 100
2 x 110

. % 115

Question Number : 20 Question Id : 16265320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next term in the below series of terms?

WL, TO, PS5, KX, ?

Options:
1. ® DK

4.« ED

Question Number : 20 Question Id : 16265320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 16265321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
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In which year did the British East India Company acquire a charter from Queen Elizabeth I granting it the sole right to
trade with the east?

Options:
1« 1600

> % 1598
s % 1628

4 % 1612

Question Number : 21 Question Id : 16265321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v 1600
. = 1598
2 = 1628

. % 1612

Question Number : 22 Question Id : 16265322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Carnatic Wars were fought between
Options:

1 « the British and the French

- # the French and the Portuguese

% % the British and the Marathas

4 the Mughals and the British

Question Number : 22 Question Id : 16265322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 16265323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Mission Retro-Fitment® is related to the Union Ministry of
Options:

, « Railways

- = Drinking Water and Sanitation

3z % Defence

g Agriculture and Farmers Welfare

Question Number : 23 Question Id : 16265323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 16265324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the name of the Government healthcare scheme that was renamed in November 2016, for making available
generic medicines at affordable prices?



Options:

, « Pradhan Mantri Bhartiya Janaushadhi Pariyojana

- » Pradhan Mantri Aushadhi Yojana

- » Pradhan Mantri Bhartiya Aushadhi Yojana

4 % Pradhan Mantri Jan Aushadhi Mission

Question Number : 24 Question Id : 16265324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 16265325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was holding the additional charge of Chairperson of the National Commission for Women after Smt. Lalitha
Kumaramangalam demitted office on 28-September-2017?

Options:
1 +« Ms. Rekha Sharma

» # Dr. Girija Vyas

%z % Ms. Sushma Sahu

4 % Ms. Mamta Sharma

Question Number : 25 Question Id : 16265325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 16265326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The rank of the Chief of the Army Staff in India is ;

Options:
1 « General

- % Field Marshal

- % Major General

4 % Lieutenant General

Question Number : 26 Question Id : 16265326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 16265327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Who won the ‘Player of the Final’ title in the ACC Women’s Asia Cup T20 2018 cricket tournament?

Options:
1 + Rumana Ahmed

» % Harmanpreet Kaur

= % Jhulan Goswami

4 % Fahima Khatun

Question Number : 27 Question Id : 16265327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 16265328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following is a leading Indian Boxer?

Options:

| « Amit Panghal

- » Sathish Kumar Sivalingam

- w Sandeep Tomar

4 % Pawan Kumar

Question Number : 28 Question Id : 16265328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 16265329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The casting of statues was popular at all the major centres of the Indus Valley Civilisation.

Options:
1« Bronze

- % Wood
= % Iron

4 % Silver

Question Number : 29 Question Id : 16265329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 16265330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Mauryan pillar found at Sarnath. popularly known as the Lion Capital. did NOT contain the figure of

Options:



1.« Cow
> % Horse

4, = Elephant
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 16265331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Match the following types of soil with its widely known feature.

f. Black q. commeon salt is obtained
d. Laterite t. Infertile
a. Saline k. prevalent in Deccan Plateau
m. Arid p- used for cutting bricks
Options:
| & -, d-p. f-k. a-t
> ® f-k.‘ d-p: a-g. m-t
=z ® d't, f'k: da-p. m-q
4 ® a-t, fL'Q: d-p: m-K

Question Number : 31 Question Id : 16265331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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d. sedse t. TS

a. @r k. gFFad T8 H gafoa

m. p. $aT Fex & ToT waeET &Far Jmar g
Options:

| & M-q, d-p, f-k, a-,
o W f-k: d'pr a-q, m-t
= ® d-t: f'k: a-p, m-q

4 ® E'-t, f‘&: d-p: m-k

Question Number : 32 Question Id : 16265332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The river forms the traditional boundary between North India and South India.

Options:
1 « Narmada

5 w lapti

z % Godavari

4 % Krishna

Question Number : 32 Question Id : 16265332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Question Number : 33 Question Id : 16265333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One single health insurance policy that takes care of the hospitalization expenses of the entire family is commonly
referred to as
Options:
, « Family Floater

- u Group Mediclaim

5 » Family Plan

, = Family Umbrella

Question Number : 33 Question Id : 16265333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 16265334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Financial Stability and Development Council is chaired by the
Options:

1 +« Union Finance Minister



» » Governor, Reserve Bank of India

= % Chief Economic Advisor

, = Finance Secretary

Question Number : 34 Question Id : 16265334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 35 Question Id : 16265335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The contraction of human heart chambers is called

Options:
, « Systole

- % Diastole
z % Stroke

4 % Heartbeat

Question Number : 35 Question Id : 16265335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 36 Question Id : 16265336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an example of homogeneous mixtures?

Options:
1 ¥ SUEEI' in water

> % Salt and Sulphur

=z % Oil and Water

4 = Sodium chloride and Iron filings

Question Number : 36 Question Id : 16265336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 37 Question Id : 16265337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Prime Minister’s Science, Technology and Innovation Advisory Council (PM-STIAC) consisting of
members was constituted on 28th August 2018.

Options:

1.« 21



Question Number : 37 Question Id : 16265337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
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Correct Marks: 1 Wrong Marks: 0.25

yua Fr e, dienifehr Ak Faem geeer 9iwe (Fea- cedmed)), e "eTT g, 28
ITET 2018 =t Tifsa Gram /ar am
Options:

1« 21

o R 10
ST ] 15

g4 ® 11

Question Number : 38 Question Id : 16265338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which year did James Watson and Francis Crick discovered the double-helix structure of Deoxyribonucleic acid
(DNA)?

Options:

1 « 1953
5 % 1949
= % 1955

4 % 1960

Question Number : 38 Question Id : 16265338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v 1953



. % 1949
- % 1955

. = 1960

Question Number : 39 Question Id : 16265339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The National Authority Chemicals Weapons Convention (NACWC) is .
Options:

; « anoffice in the Cabinet Secretariat, Government of India

> % anautonomous authority

- » an office under the Prime Minister’s Office (PMO)

4, = Dpart of the Department of Defence Production

Question Number : 39 Question Id : 16265339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 16265340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT true with reference to the NITI Aayog?

Options:

, « Itwas formed by an Act of Parliament.



> w Itwas formed on January 1. 2015.

- = ltprovides policy inputs to the Government of India.

, = ltreplaced the Planning Commission.

Question Number : 40 Question Id : 16265340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 41 Question Id : 16265341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
f{azajf'-ﬁxr;za]z-f' (0.49)* x(D.343)* .,
(54)875x(y/5)24 (0.2401)3

The value o

Options:

Question Number : 41 Question Id : 16265341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(625)823%(25)%®  (0.49)*x(0.343)*
(54875 (4/5)2-4 (0.2401)°

Options:

| % 025

T A &

, = 0.35
2 v 25

. % 175

Question Number : 42 Question Id : 16265342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % 2"-‘{?



Question Number : 42 Question Id : 16265342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct Marks: 1 Wrong Marks: 0.25

Options:

1 % 2V3
2_&‘3‘\'@

Question Number : 43 Question Id : 16265343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

3 1

7 = 5 37 —27 1 i
; g s —R g L Sl g 'een:
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3 i
| 3_%
Options:
1 1
1= and 2-
2 2
1 1
2=and 3=
2 2
1 1
33— and 4-
= 2 2

41 and 52
2 2
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 44 Question Id : 16265344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Let x be the greatest number which when divides 1288, 8139, 17200 the remainder in each case is the same. What is the
sum of digits of x?

Options:
1.4 5

4 ® 11

Question Number : 44 Question Id : 16265344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.4 D

2_-565

3_-568
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Question Number : 45 Question Id : 16265345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a class 60% of the students are boys and rest are girls. If 35% of the number of boys and 60% of the number of girls
get scholarship and the number of girls who do not get scholarship is 32. then the number of boys who do not get
scholarship is:

Options:
1 ® 42

- ® 60
3« 78

4 ® a4

Question Number : 45 Question Id : 16265345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = 42
o R 50
2« 18

g ® 84

Question Number : 46 Question Id : 16265346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
16 L of a solution containing 15% acid are mixed with 20 L of another solution containing 16% acid. 4 L of water was
then mixed with the resulting solution. What is the percentage of water in the final solution?
Options:
1 ® a0
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Question Number : 46 Question Id : 16265346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct Marks: 1 Wrong Marks: 0.25
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1 = 80
o & 88
ST ] 82

4 o 86

Question Number : 47 Question Id : 16265347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If goods are purchased for T 480 and one-third are sold at a loss of 10%, then at what percentage profit should the
remaining be sold so as to gain 20% on the whole transaction?

Options:
1 ® 28

40

t
g{

Question Number : 47 Question Id : 16265347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 = 28
5 o 30

ST ] 40
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Question Number : 48 Question Id : 16265348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A dealer marks an article 40% above its cost price and allows 12% discount on its marked price. Later on, he sells it by
giving another cash discount of ¥ 39 and still he earns a profit of 18%. What is the cost price of the article?

Options:
, % T 680

> % T700
z % T720

gl 250

Question Number : 48 Question Id : 16265348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% T 680

, » T 700
2 % T 720

4 v T 750

Question Number : 49 Question Id : 16265349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There are some children in a camp and their average weight is 24 kg. If 5 children of average weight 18 kg join the
camp or if 10 children of average weight 242 kg leave the camp. the average weight in both cases remains equal.
Initially. what is the number of children in the camp?

Options:

1 ® 12

2.9—-’15
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Correct Marks: 1 Wrong Marks: 0.25

T HFT H FO geo ¢ AR 39 AEa A% 24 Tar g1 3 24 G T s e b w=w e A
ﬁ?mmmwaﬁrﬁmsﬂ'ﬂ?—rmmi Brar & T & T wer ST, o e Rutadt & sitea
Y AT 4T g1 3T § F0 7 Faw g==r 27

Options:

1 ® 12
> « 1D
= ® 16

g4 ® 18

Question Number : 50 Question Id : 16265350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of mean proportional between 0.8 and 9.8 and the third proportional to 0.7 and 2.8 is:

Options:

1. % 2:7
= % 13
z« 1:4
4 % 2:3

Question Number : 50 Question Id : 16265350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1_&32:?
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Question Number : 51 Question Id : 16265351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The menthly incomes of A and B are in the ratio 6 : 5 and expenses are in the ratio 9 : 8. If the income of B is equal to
the expenses of A. then the ratio of savings of A and B is:

Options:
1. ¥ 0

]

3
g{
LAy
]

Question Number : 51 Question Id : 16265351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1« 9:5
o %020
2% 3:4
4 % 4:3

Question Number : 52 Question Id : 16265352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The compound interest on a certain sum for 2 years at 10% per annum. interest compounded vearly, is I 6.300. What

: 5 1
will be the compound interest on the same sum for 3 ; Years at the same rate? (nearest to one <)

Options:
. % 10,882

> % 310,892



- % T10,829

4 v $10928

Question Number : 52 Question Id : 16265352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

.« T 10,882

, % ¥ 10,892

. x $10,829

4 ¢ < 10,928

Question Number : 53 Question Id : 16265353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of field in the shape of a trapezium is equal to the area of another field in the shape of an equilateral triangle. If
the parallel sides of the first field are 70 m and 170 m and non-parallel sides are 130 m each, then the side (in m) of the
triangular field is:

Options:
. = 80v27

. « 80(27)
5w 40V27

. % 40(27):

Question Number : 53 Question Id : 16265353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 54 Question Id : 16265354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of lateral surface area of a cone and that of hemisphere with equal height and equal radius is:

Options:
o g
Ut
2 1142
4% 213

Question Number : 54 Question Id : 16265354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct Marks: 1 Wrong Marks: 0.25



The rate at which water flows in a river is 33 é % of the speed of a boat in still water. If the boat travels down the river
for 3% hours and then returns back the river for 3 hours, it will be 33.6 km short of its starting point. What is the speed

(in km) of the boat in still water?

Options:
; % 10.8

Question Number : 55 Question Id : 16265355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 10.8
. v 12.6
2 % 12.8

4% 132

Question Number : 56 Question Id : 16265356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of speeds of A and C is 5 : 11. B covered a distance of 450 km in 6 hours. The speed of A is two-thirds that of
B. The distance (in km) covered by C in 3.6 hours is:

Options:
1 % 270

290

P2
ﬁ’{

5 % 388

4 o 396
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Options:

| % 270
. % 290
. 388

. v 396
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Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A can do a piece of work in 10 days. B can do it in 15 days and C can do it in 20 days. They started the work together.
A leaves off after 2 days and B leaves off after 4 days from the beginning. C will complete the remaining work in:

Options:

1
. 55 days

2
5 o 6; days

5 5§ days

102 days
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Question Number : 58 Question Id : 16265358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A and B can do a piece of work in 20 days. After working for 5 days together. C assisted them and the work was
completed in next 10 days. If C does as much work in 4 days as B does in 3 days, how long B and C together will take
to complete the same work?

Options:

1

135 days
2

135 days

i §
5 b 1?; days

2
1?; days
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Sub-Section Number: 2
Sub-Section 1d: 1626534
Question Shuffling Allowed : Yes

Question Id : 16265359 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension

Study the following Pie-chart and table and answer the questions.

Percentage breakups of employees in differents of a
company

mA =B mC D mE mF

Total number of employees = 6300

Ratio of Males and Female emplovees

Department Male : Female
A 11 6
B 10 11
G 4 3
D 13 14
E T 8
F 5 6
Sub questions

Question Number : 59 Question Id : 16265360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of the number of male employees in
departments B. D and E together to the number of
female emplovees in A, E and F together is:

Options:



Question Number : 60 Question Id : 16265361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Total number of employees in department E is what
percent less than the total number of female
employees in departments C and D?

Options:

1 ® 14

- ® 15

3. ¢ 16

Question Id : 16265359 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cuesticon Label | Comprehension
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A 11 6

B 10 11

G 4 3

D 13 14

E

F

Sub questions

Question Number : 59 Question Id : 16265360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1_-@"3:2



2_-&6&3:4
o' 31 2

L ® 63 : 43

Question Number : 60 Question Id : 16265361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

famer E F Fa=niyat #r o wear s C
AR D # Afger AR # Fo FEar &
o wfeeg &7 &7

Options:

1 = 14

o & 1 5

2« 16

g4 ® 19
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Question Number : 61 Question Id : 16265362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Jayati and Madhav were wearing their raincoats. Thefore, when the rain came. they wet.
Options:
, % domnot get

o o didn’t get

- w aren’t getting

4 = haven’t got

Question Number : 61 Question Id : 16265362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Jayati and Madhav were wearing their raincoats. Thefore, when the rain came. they wet.
Options:
, = domnot get

o o didn’t get

5 w aren’t getting

4 = haven’t got

Question Number : 62 Question Id : 16265363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

Yesterday. I noticed that when the teacher was teaching, you to her.
Options:
1 % do not listen

- u arenot listening

5 o WeIe not listening

4 % have not listened

Question Number : 62 Question Id : 16265363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Yesterday. I noticed that when the teacher was teaching. you to her.
Options:
1 #% do not listen

- % arenot listening

=  Werenot listening

4 % have not listened

Question Number : 63 Question Id : 16265364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I don’t like to drive in the Delhi traffic I use Metro and auto.
Options:
1 % evenif

2 ¢ 50
% % because

4 % otherwise



Question Number : 63 Question Id : 16265364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I don’t like to drive in the Delhi traffic I use Metro and auto.
Options:
1 % evenif

g o180
3 # because

4 % otherwise

Question Number : 64 Question Id : 16265365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I was working on my Mathematics Taru and Kavya were playing chess.
Options:
1 % instead

- % however
= « meanwhile

4 % therefore

Question Number : 64 Question Id : 16265365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I was working on my Mathematics Taru and Kavya were playing chess.
Options:
1 % instead

-~ % however

= « meanwhile



4 % therefore

Question Number : 65 Question Id : 16265366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

A counfry striking natural beauty a stunning Adriatic coastline, Croatia is very popular as a tourist
destination.

Options:
| ® with ; in

5 « Of i with

- w for;at
4 % of ; on

Question Number : 65 Question Id : 16265366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

A counfry striking natural beauty a stunning Adriatic coastline, Croatia is very popular as a tourist
destination.

Options:
| ® with ; in

5 o 0f; with

5 u for;at
4 % of ; on

Question Number : 66 Question Id : 16265367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

The communists lost the conservatives the first free elections Croatia.
Options:
] % for ; with ; in



¢ bV :to:for

5 w in;by;at

4 to:in:in

Question Number : 66 Question Id : 16265367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

The communists lost the conservatives the first free elections Croatia.
Options:
| % for ; with ; in

» % byito;for

- w iniby:at

4 o to:in;in

Question Number : 67 Question Id : 16265368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

You can still the video that she has uploaded on the You Tube.
Options:

1 « access

- % Denetrate

= % infiltrate

4 % attack

Question Number : 67 Question Id : 16265368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

You can still the video that she has uploaded on the You Tube.



Options:
1 & BCCEess

- % Dpenetrate

% % infiltrate

4 % attack

Question Number : 68 Question Id : 16265369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

No one that the intensity of the floods in Kerala would be so great that it would demolish village after village.
Options:
1 @ involved

- % examined

-  anticipated

4 % watched

Question Number : 68 Question Id : 16265369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

No one that the intensity of the floods in Kerala would be so great that it would demolish village after village.
Options:
1 % involved

> % examined

5  anticipated

4 % watched

Question Number : 69 Question Id : 16265370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

RECKON
Options:
1 % observe

> w explain

= % examine

4 « imagine

Question Number : 69 Question Id : 16265370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

RECKON
Options:
1 % observe

» % explain

5 % examine

4  imagine

Question Number : 70 Question Id : 16265371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

INMUNE

Options:
1 « resistant

- % vVvulnerable

5 % susceptible

4 = helpless



Question Number : 70 Question Id : 16265371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

IMMUNE
Options:
1 « resistant

- % vVulnerable

5 w susceptible

4 = helpless

Question Number : 71 Question Id : 16265372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate antonym of the given word.

SUBSIDE
Options:
, = fall

> o stand
3z % sink

4 = drop

Question Number : 71 Question Id : 16265372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate antonym of the given word.

SUBSIDE
Options:
, = fall

> o stand

3z % sink



4 = drop

Question Number : 72 Question Id : 16265373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option which is NOT an antonym of another word by way of adding the prefix ‘dis-".
Options:

, = disqualify

> % disinterested
-  distinguished

4 w disregard

Question Number : 72 Question Id : 16265373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option which is NOT an antonym of another word by way of adding the prefix ‘dis-".
Options:

, = disqualify

- % disinterested
-  distinguished

4 # disregard

Question Number : 73 Question Id : 16265374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange parts of the sentence in meaningful and grammatically correct order.

A. recommend that

B. should be introduced

C. Researchers at the US National Library of Medicine
D. 'no selfie zones'

E. at dangerous spots to reduce deaths

Options:
, % CDAEB



> « CADBE
s % CEBAD

4 % CBEDA

Question Number : 73 Question Id : 16265374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange parts of the sentence in meaningful and grammatically correct order.

A. recommend that

B. should be introduced

C. Researchers at the US National Library of Medicine
D. 'no selfie zones'

E. at dangerous spots to reduce deaths
Options:

1 ® CDAEB

5 « CADBE
s % CEBAD

4 % CBEDA

Question Number : 74 Question Id : 16265375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following sentence four words/phrases have been underlined. One of them is incorrect.

Archaeologists in the Netherlands have discovered a 2.000-year-old stretch of Roman road and the remains of a Roman
village at the town of Katwijk. who once marked the northern boundary of the Roman Empire.

Options:
1 % have discovered

- % and the remains of
= % atthe town of

4 +« Wwho once marked

Question Number : 74 Question Id : 16265375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following sentence four words/phrases have been underlined. One of them is incorrect.

Archaeologists in the Netherlands have discovered a 2.000-year-old stretch of Roman road and the remains of a Roman
village at the town of Katwijk. who once marked the northern boundary of the Roman Empire.

Options:
1 % have discovered

- % and the remains of
= % atthe town of

4 +« Wwho once marked

Question Number : 75 Question Id : 16265376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the sentence that is NOT correct.
Options:

i,

Moxi is a "socially intelligent" hospital robot that can autonomously pick up and deliver medical supplies.

o> W
The robot, developed by Diligent Robotics has gone into service at three hospitals in Texas as part of pilot programme.

-  Moxi take on non-patient-facing logistical tasks and reduce trips by nurses to supply rooms,

4 = Diligent believes Moxi can free up nursing staff for other duties.

Question Number : 75 Question Id : 16265376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the options given below choose the sentence that is NOT correct.

Options:
1 *

Moxi 15 a "socially intelligent" hospital robot that can autonomously pick up and deliver medical supplies.

: H
The robot. developed by Diligent Robotics has gone into service at three hospitals in Texas as part of pilot programme.

-  Moxi take on non-patient-facing logistical tasks and reduce trips by nurses to supply rooms,

, = Diligent believes Moxi can free up nursing staff for other duties.
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Read the following passage and answer the questions based on it.

The occurrence of a new insect pest, Fall Armyworm (FAW), has
been recently reported in Karnataka and also parts of Andhra Pradesh,
Telangana, Tamil Nadu, Maharashtra and Gujarat. The pest has been
detected mainly in maize fields.

FAW is not new to the scientific community. This highly-destructive
and invasive pest has been seen in the Americas since several decades,
but its prevalence outside was noted for the first time in West Africa in
early 2016. Since then, it has spread to 44 countries across the continent.

The adult moth of the pest migrates very fast — almost 100 km every
night. It can, therefore, invade new areas quickly. Also, each female moth
is capable of laying 1.500 eggs on an average. The entire lifecycle —
from egg to new adult moth that lays fresh eggs — is completed in about
30 days during the summer months. The pest thrives on a wide spectrum
of host crop plants: maize, sorghum, rice, sugarcane, soyabean,
vegetables, etc.

Yet. FAW can be effectively managed through an integrated pest
management (IPM) approach.

The FAW moth lays eggs on the plant’s foliage (leaves). The egg
stage lasts for only 2-3 days in warmer weather. The next larval stage is
the most dangerous one whose entire duration is from 14 to 30 days,
depending on the temperature and humidity conditions. The destruction
of leaves, stems or flowers of the crop plants by the larva through feeding
happens mostly at this stage. Once the larval stage is completed, the
growing moth pupates in the soil — for 8-9 days The nocturnal egg-
laying adults live for about 10 days, while most active during warm and
humid evenings.

Scientists at the University of Agricultural Sciences, Bengaluru have
scientifically validated the incidence of FAW in maize fields across
various districts of Karnataka. There have been isolated reports of the
pest’s presence in the maize-growing areas of other states, too.
Fortunately, it has not caused any significant destruction as yet. But the
fact that the moth can travel several hundred kilometers and lay eggs
profusely during its lifespan calls for serious concern.

In such a scenario, policymakers — more so, in the states where the
pest has already been detected — need to nip the problem in the bud. A
mass awareness campaign is necessary to build awareness among farmers
and extension workers on how to recognize the various stages of the
insect and manage/control it with the right IPM interventions. An
effective IPM strategy would need to incorporate host plant resistance
(through breeding), biological and cultural control, and use of
environmentally-safer chemical and bio-pesticides for crop protection.
Spraying of chemicals should be avoided. Cultural control practices can
work, especially when the FAW problem is still localised to particular
geographies/crops. The eggs laid by the moths are discernible to the
naked eye. Farmers can be trained to recognize and destroy the egg
masses, 50 as to prevent the caterpillars from emerging.



Sub questions

Question Number : 76 Question Id : 16265378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The main purpose of this article is to:
Options:
, = Show how India has dealt with the pest problem

- u Explain the life cycle of the pest FAW

Create awareness that effective measures can solve
-  the pest problem

Highlight the problems created by FAW in different
4 %® countries

Question Number : 77 Question Id : 16265379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Since then. it has spread to 44 countries across the
continent.” Which continent is being referred to
here?
Options:
1 « Africa

- #% North America
= % Asia

4 % South America

Question Number : 78 Question Id : 16265380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The FAW attacks a number of crops. However which
is the crop where it has been mainly detected?
Options:
1 # Rice

5 % Sugarcane

5 # Soyabean



4. o Maize

Question Number : 79 Question Id : 16265381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the correct sequence of a moth’s life cycle?

A. eating of leaves. stems and flowers by the larva
B. emerging of the adult moth

C. laving of eggs on the plant’ leaves

D. pupating underground
Options:

1 ® ABCD

> « CADB
s ® BDAC

4 » DCBA

Question Number : 80 Question Id : 16265382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How can the farmers best stop caterpillars from
emerging?
Options:
« DBy biological and cultural control

L .

» = By spraying the fields with chemicals

5  BY destroying the eggs seen on the plants

4 = By using host place resistance

Question Id : 16265377 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following passage and answer the questions based on it.

The occurrence of a new insect pest, Fall Armyworm (FAW), has
been recently reported in Karnataka and also parts of Andhra Pradesh,
Telangana, Tamil Nadu, Maharashtra and Gujarat. The pest has been
detected mainly in maize fields.

FAW is not new to the scientific community. This highly-destructive
and invasive pest has been seen in the Americas since several decades,
but its prevalence outside was noted for the first time in West Africa in
early 2016. Since then, it has spread to 44 countries across the continent.

The adult moth of the pest migrates very fast — almost 100 km every
night. It can, therefore, invade new areas quickly. Also, each female moth
is capable of laying 1.500 eggs on an average. The entire lifecycle —
from egg to new adult moth that lays fresh eggs — is completed in about
30 days during the summer months. The pest thrives on a wide spectrum
of host crop plants: maize, sorghum, rice, sugarcane, soyabean,
vegetables, etc.

Yet. FAW can be effectively managed through an integrated pest
management (IPM) approach.

The FAW moth lays eggs on the plant’s foliage (leaves). The egg
stage lasts for only 2-3 days in warmer weather. The next larval stage is
the most dangerous one whose entire duration is from 14 to 30 days,
depending on the temperature and humidity conditions. The destruction
of leaves, stems or flowers of the crop plants by the larva through feeding
happens mostly at this stage. Once the larval stage is completed, the
growing moth pupates in the soil — for 8-9 days The nocturnal egg-
laying adults live for about 10 days, while most active during warm and
humid evenings.

Scientists at the University of Agricultural Sciences, Bengaluru have
scientifically validated the incidence of FAW in maize fields across
various districts of Karnataka. There have been isolated reports of the
pest’s presence in the maize-growing areas of other states, too.
Fortunately, it has not caused any significant destruction as yet. But the
fact that the moth can travel several hundred kilometers and lay eggs
profusely during its lifespan calls for serious concern.

In such a scenario, policymakers — more so, in the states where the
pest has already been detected — need to nip the problem in the bud. A
mass awareness campaign is necessary to build awareness among farmers
and extension workers on how to recognize the various stages of the
insect and manage/control it with the right IPM interventions. An
effective IPM strategy would need to incorporate host plant resistance
(through breeding), biological and cultural control, and use of
environmentally-safer chemical and bio-pesticides for crop protection.
Spraying of chemicals should be avoided. Cultural control practices can
work, especially when the FAW problem is still localised to particular
geographies/crops. The eggs laid by the moths are discernible to the
naked eye. Farmers can be trained to recognize and destroy the egg
masses, 50 as to prevent the caterpillars from emerging.



Sub questions

Question Number : 76 Question Id : 16265378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The main purpose of this article is to:
Options:
, = Show how India has dealt with the pest problem

- u Explain the life cycle of the pest FAW

Create awareness that effective measures can solve
-  the pest problem

Highlight the problems created by FAW in different
4 %® countries

Question Number : 77 Question Id : 16265379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Since then. it has spread to 44 countries across the
continent.” Which continent is being referred to
here?
Options:
1 « Africa

- #% North America
= % Asia

4 % South America

Question Number : 78 Question Id : 16265380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The FAW attacks a number of crops. However which
is the crop where it has been mainly detected?
Options:
1 # Rice

5 % Sugarcane

5 # Soyabean



4. o Maize

Question Number : 79 Question Id : 16265381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the correct sequence of a moth’s life cycle?

A. eating of leaves. stems and flowers by the larva
B. emerging of the adult moth

C. laving of eggs on the plant’ leaves

D. pupating underground
Options:

1 ® ABCD

> « CADB
s ® BDAC

4 » DCBA

Question Number : 80 Question Id : 16265382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How can the farmers best stop caterpillars from
emerging?
Options:
« DBy biological and cultural control

L .

» = By spraying the fields with chemicals
5  BY destroying the eggs seen on the plants

4 = By using host place resistance
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 16265385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 83 Question Id : 16265386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 16265383 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81to 85)
Cuestion Label © Comprehension
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Question Number : 81 Question Id : 16265384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 16265385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 83 Question Id : 16265386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 16265387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 16265388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section 1d: 1626538
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 16265389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 86 Question Id : 16265389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 16265390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 16265390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 16265391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 16265391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 16265392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 16265392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 16265393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 16265393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 16265394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 16265394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 16265395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 92 Question Id : 16265395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 16265396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 16265396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 16265397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 16265397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 16265398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 95 Question Id : 16265398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘e H 93T &

Options:

Question Number : 96 Question Id : 16265399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 96 Question Id : 16265399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 162653100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 162653100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 162653101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 162653101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 162653102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 162653102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 162653103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 162653103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Subject Related

Group Number : 6
Group Id: 1626536
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 1626536
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 1626539
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 162653104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In 1772 who was the company official who had ventured to say that “the demand for Indian textiles could never reduce,
since no other nation produced goods of the same quality™?

Options:

1 % Robert Clive

> % Warren Hastings

5  Henry Patullo



4 % Cornwallis

Question Number : 101 Question Id : 162653104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 162653105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Via which of the following Indian coasts was a vibrant sea trade to the Gulf and Red Sea ports operated through the
main pre-colonial ports?

Options:

| « Surat on Gujarat coast

- % Masulipatnam on Coromandel coast

- » Hoogly in Bengal

4 % DBombay

Question Number : 102 Question Id : 162653105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question 1d : 162653106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who proposed the form of government that was based on a social contract between people and their representatives?

Options:
, = Montesquien

- % John Locke

-  Jean-Jacques Rousseau

4 % David Hume

Question Number : 103 Question 1d : 162653106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 162653107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the Convention abolished monarchy and declared France as a Republic?

Options:
| « 21% September, 1792

» % 24 August, 1793



. = 10 August, 1793

, % 9% July, 1794

Question Number : 104 Question Id : 162653107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
B H AL FT FACT X HR 32N H ORI DT F T GRS (Feael=) Fa gH1?

Options:

| v 21 faass, 1792
5 % 2 3TFd, 1793

.« 10 3@TE, 1793

. 9 oS, 1794

4,

Question Number : 105 Question Id : 162653108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regard to the French Revolution, which among the following had reworked the sovereign nation state by
redefining the idea of freedom from the bondage into a movement?

Options:
, « Colonised people

> % Jacobians
=z % Socialists

4 % Nobles

Question Number : 105 Question Id : 162653108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 162653109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In 1851, who described Awadh as “a cherry that will drop into our mouth one day™?

Options:
1 % Lord William Bentick

> % John Macpherson

- = Richard Wellesley

4 + Lord Dalhousie

Question Number : 106 Question Id : 162653109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 162653110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who among the followings mobilized the Headmen and Cultivators of Chaurasee Des. moving at night from village to
village, urging people to rebel against the British?

Options:

1 +« Shah Mal



> % Maulvi Ahmadullah Shah

- » Suraj Mal

4 = Birjis Qadr

Question Number : 107 Question Id : 162653110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 162653111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which Congress session formalized the demand for ‘Purna Swaraj’ or ‘Full Independence’ for India?

Options:
, « Lahore session, 1929
» % Delhi session, 1923

5 % Calcutta session, 1917

4 % Lahore session, 1909

Question Number : 108 Question Id : 162653111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question 1d : 162653112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Reacting against the colonial policies and to organize the business activities when did the Indian Merchants and
Industrialists formed the Indian Industrial and Commercial Congress?

Options:
. ® 1927

> « 1920
3 % 1921

4 % 1923

Question Number : 109 Question Id : 162653112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A=t i & Ters sfafFw &5 ik i ot & cosftug 5= & v ard
st 3k sEEEmiEEr & adT e Ak oS FEm # ea w9 e

Options:

| % 1927
- v 1920
5 % 1921

L % 1923

Question Number : 110 Question Id : 162653113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who was the leading English manufacturer who sought to build a cooperative community called ‘“New Harmony” in
Indiana (USA)?

Options:

, w Friedrich Engels



> % Daniel Johnson
%z % Louis Blanc

4 « Robert Owen

Question Number : 110 Question Id : 162653113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 162653114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the percentage of women factory labour force in Russia by 19147

Options:
1w 31 percent

35 percent
38 percent

28 percent

Question Number : 111 Question Id : 162653114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 162653115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Which of the following was the demand of the liberals in Russia along with peasants and workers in 19057
Options:

1 % Land of landlords

- « Constitution

- u Land of peasants

4 % Democracy

Question Number : 112 Question Id : 162653115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 162653116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who had led the revolution that brought down the Russian Monarchy in February 19177

Options:

, « Petrograd



- % Tsar

5 » Military

4 % Land lords

Question Number : 113 Question Id : 162653116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 38 Fa FT Aged a1 50 w0 1917 # FE7 TMMET & 5EE FHr?

Options:

L v TS

gw?lT
3_.;;!\-\1@'
, % ©I5 WIsH

Question Number : 114 Question Id : 162653117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Marx believed that to free themselves from the capitalist exploitation, workers had to construct a society where
all property was socially controlled.
Options:
; = Trevolutionary socialist

- w capitalist

-  radically socialist

4, = socialist cooperative

Question Number : 114 Question Id : 162653117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 162653118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Many Indians got inspired by the Russian Revolution and wrote on the Soviet Socialism. Who among the following
authors wrote, in Hindi. in1920-21, on Russian Revolution, Lenin’s life and thoughts, and later the Red Revolution?

Options:
1 % Jawaharlal Nehru

-  R.S. Avasthi

5 = Rabindranath Tagore

4 = S.D.Vidyalankar

Question Number : 115 Question 1d : 162653118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 162653119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mention the name of the book that was written by Charlotte Beradt who secretly recorded the people’s dreams in her
dairy and later published it as a book.

Options:



1 % Villette
- % Inside the Third Reich
= % The rise and fall of Third Reich

4 « Third Reich of Dreams

Question Number : 116 Question Id : 162653119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 117 Question Id : 162653120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The programme of the Nazis where in the properties of the Jews were vandalised and looted, houses of Jews were attacked,
synagogues were burnt, and men arrested was referred to as:

Options:
; % TheNuremberg Laws 1935

» = Theart of propaganda

5  The Night of Broken Glass in November 1938

4 = The National Socialist Programme

Question Number : 117 Question 1d : 162653120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 162653121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the voung and fragile idea that could NOT survive the instabilities of the interwar Europe?

Options:
1 % Socialism

» u Conservative dictatorship

s Democracy

4 # Radicalism

Question Number : 118 Question Id : 162653121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 119 Question Id : 162653122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who were mockingly called as ‘November Criminals’?

Options:
LW Socialists. Catholics and Democrats

5 % Radicals, Liberals and Conservatives

- w Jews, Gypsies and Physically enabled

4 % Socialists, Nazis and Democrats

Question Number : 119 Question Id : 162653122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 162653123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which year was the Tripartite pact between Italy. Japan and Germany signed?
Options:

1 % 1939

5 % 1941

s % 1938

4« 1940

Question Number : 120 Question 1d : 162653123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

SCall, AU AT FEAr F 99 Fuef gasite v & 9w graner & v 92

Options:

| % 1939
o % 1941
-« 1938

4 v 1940

Subiject Related

Group Number : 7
Group Id: 1626537
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 1626537
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 16265310
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 162653124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the famous constellations can be seen during summer in the early part of the night?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1 Great Bear

- Ursa Major

% Orion

, Leo Major

Question Number : 121 Question Id : 162653124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:
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Question Number : 122 Question 1d : 162653125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who suggested that the movement responsible for the drifting of the continents was caused by pole-fleeing force and
tidal force?

Options:

, w Arthur Holmes’ Convection Current Theory

-~ u Continental Drift Theory by Frank Bursley Taylor

=  Wwegener’s Continental Drift Theory

4 # Abraham Ortelius Theory



Question Number : 122 Question Id : 162653125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question 1d : 162653126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The axis of the Earth, which is an imaginary line. makes an angel of with its orbital plane.
Options:

; » 068degree

» u 64 degree

5 00 degree

4 = 65degree

Question Number : 123 Question 1d : 162653126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question 1d : 162653127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the local time difference between Dwarka in Gujarat to Dibrughar in Assam?

Options:
1 #% 1 hour 05 minutes

> % 1 hour 19 minutes
% % 1 hour 15 minutes

4 + 1 hour 45 minutes

Question Number : 124 Question 1d : 162653127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 162653128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is name of the boundary between India and the Antarctic plate marked by the oceanic ridge running in roughly W
—E and merging into spreading site, a little south of New Zealand?
Options:
, « Divergent boundary

-~ u Convergent boundary

- » Iransform boundary

4 # Ocean convergent boundary



Question Number : 125 Question Id : 162653128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 162653129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the name of the periodic development of a warm ocean current along the coast of Peru as a temporary
replacement of Peruvian current?

Options:
, = Westerly winds

- % Jet stream
= « Elnino

4 #% Coriolis force

Question Number : 126 Question Id : 162653129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question 1d : 162653130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The place where Northeast and Southeast trade winds converge is called as:
Options:

. « Inter tropical convergence zone

-~ » Oceanic and oceanic convergence zone

- w Oceanic continental convergence zone

4 = Continental convergence zone

Question Number : 127 Question 1d : 162653130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 162653131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is Continentality?

Options:

. « The experience of extreme weather conditions due to distance from the sea

- w The experience of extreme weather conditions due to higher altitudes

- % [The experience of extreme weather conditions due to distance from rivers

4, = The experience of extreme weather conditions due to lower altitudes



Question Number : 128 Question Id : 162653131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 162653132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
India lies in the region of winds.

Options:
, = Dperiodic

- % local
= % Wwesterlies

4 « north easterlies

Question Number : 129 Question Id : 162653132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

9T e ganet ¥ &85 7 g 272

Options:



Question Number : 130 Question Id : 162653133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How can swimmers float in the water of the Dead Sea in Israel?
Options:

; = Due to lack of salinity

-  Because of presence of increased amounts of salt

- = DBecause of presence of potassium

4 = Due tothe presence of calcium

Question Number : 130 Question Id : 162653133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 162653134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the total length of the coastline of India’s mainland. including Andaman and Nicobar?

Options:
| % 7.546.7 km
7.520.8 km

s 71:516.6 km

4 % 11.290.7 km

Question Number : 131 Question Id : 162653134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 7,546.7 km

, % 7,520.8 km
- » 7,516.6 km

, = 11,290.7 km

Question Number : 132 Question Id : 162653135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The part of Himalayas lying between Sutlej and Kali rivers is known as:
Options:

, = Punjab Himalayas

-  Kumaon Himalayas

= u Assam Himalayas

, » Himachal Himalayas

Question Number : 132 Question Id : 162653135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question 1d : 162653136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Black soils are generally poor in content.

Options:
1 % Potash

> w Magnesium

5  Phosphoric

4 % Lime

Question Number : 133 Question Id : 162653136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 162653137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The temperate forests and grasslands give way to what type of vegetation at high altitudes, which is generally more than
3.600 m above sea level?

Options:
; = Tundra vegetation

- u Perennial grasses

=  Alpine vegetation

4 % Shrubs

Question Number : 134 Question Id : 162653137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question Id : 162653138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The change of population in a particular area between two points of time is known as:

Options:
, « Growth of population

- u Growth percentage of population

5 = Migration

4 = Natural growth of population

Question Number : 135 Question Id : 162653138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 162653139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the name the three stages of demographic transition theory?
Options:

, = High death rates, literacy, high birth rates

-  High birth rates, literacy. low birth rates

- » Rural agrarian, literacy, high death rates

, = Rural agrarian, demographic transition, urban industrial

Question Number : 136 Question Id : 162653139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 162653140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the main aim of the National Population Policy, 20007

Options:
, w Developing female-oriented programmes

-  Making family welfare as people-centred programme
« An Adolescents programme

S

4 = Developing child-oriented programmes



Question Number : 137 Question Id : 162653140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TSET FAFEAT Aif, 2000 F AET 3227 FT 272
Options:

7 ATgeT A FUFAT FT aFHT FIAT

o L
o v GRER FEIUT & FA-higd HASRH FATeAl

- » TReRTaTYT FEmA

, STol 3= FOFHAT F FFag =T

Question Number : 138 Question 1d : 162653141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What among the following is essential for the sustained quality of life and global peace?

Options:
1 % Distribution of resources

- % Production of resources

5  Equitable distribution of resources

4 = Utility of resources

Question Number : 138 Question Id : 162653141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 162653142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Agenda 21 is the declaration signed by world leaders at . which took place at Rio de Janeiro, Brazil.

Options:
1 « UNCED

> % UNDP
- % UNFPA

4 % UNODC

Question Number : 139 Question Id : 162653142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 162653143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diversion channels built by the people of Western Himalayan region for agriculture.

Options:
1 % Tankas
- % Khadins

5  Kuls and guls

4 % Johads



Question Number : 140 Question Id : 162653143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Id : 1626538
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 1626538
Section Number : 1
Section type: Online
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Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
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Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 162653144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Minerals occur in in igneous and metamorphic rocks.
Options:
1 « lodes

> % beds

5 w layers

4 % residual mass

Question Number : 141 Question Id : 162653144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 162653145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is the highest quality hard coal?

Options:
, = Lignite

> % Bituminous
= « Anthracite

4 % Hematite

Question Number : 142 Question 1d : 162653145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 162653146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the state in which the three paddy crops. Aus. Aman and Boro, are grown.

Options:
, = Telangana

o o Assam
z % Uttar Pradesh

4 % Harvyana

Question Number : 143 Question Id : 162653146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question 1d : 162653147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jute grows well on which type of s0il?

Options:



1 % Black soil
> % Red soil
= « Alluvial soil

4 % Yellow soil

Question Number : 144 Question Id : 162653147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 162653148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following is the leading producer of coffee?

Options:
1 « Brazil

> % India
z % Columbia

4 % SriLanka

Question Number : 145 Question Id : 162653148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 162653149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which year was the Salem steel plant in Tamil Nadu commissioned?

Options:
1 % 1992

ooR 1972
= « 1982

4 ® 1952

Question Number : 146 Question Id : 162653149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 1992

. % 1972
-« 1982

. % 1952

Question Number : 147 Question Id : 162653150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
On the basis of ownership. industries are classified into:
Options:

; = Small scale and large scale

-  Public sector, private sector, and joint and cooperative sector



- w Agricultural-based. forest-based, mineral-based

4 = Metallurgical, mechanical and electrical

Question Number : 147 Question Id : 162653150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question 1d : 162653151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the name of the National Highway no.1?

Options:
1 % Durgapur eXpressway

5 % APCRDA *Greenway’

= « Sher Shah Suri Marg

4 ® Dibrugarh to Tuipang Road

Question Number : 148 Question Id : 162653151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 162653152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the length of the pipeline that was constructed to connect Salaya (Gujarat) with Mathura (UP)?

Options:
1 % 1248 km

- % 1289 km
2 o 1256 km

4 ® 1265 km

Question Number : 149 Question Id : 162653152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 1248 km

, % 1289 km
-« 1256 km

. % 1265 km

Question Number : 150 Question Id : 162653153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following is the nuclear power plant in Karnataka?

Options:
, = Kalpakkam

5 % Tarapur



= % Naraura

4 « Kaiga

Question Number : 150 Question 1d : 162653153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 162653154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Disasters are classified into four types. Floods come under which type of disaster?

Options:
; = Atmospheric

-  Aquatic

- = Biological

4 # Terrestrial

Question Number : 151 Question Id : 162653154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 162653155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
While determining the poverty line in India. a minimum requirement of food was taken into consideration. What is the
average requirement of calories per person per day in rural areas?

Options:
1 % 2100 calories

> % 2300 calories
3 o 2400 calories

4 % 2200 calories

Question Number : 152 Question Id : 162653155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 2100 FHarr

- % 2300 FHART
5« 2400 FHarr
4 % 2200 FHART

Question Number : 153 Question Id : 162653156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the programme that promises 100 days of guaranteed wage employment to all rural households who volunteer to
do unskilled manual work?

Options:
. % PMEGP

> ® PMRY



- v NREGA

4 % REGP

Question Number : 153 Question 1d : 162653156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question 1d : 162653157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

To signify the achievements of the Green Revolution, a stamp was released by the then Prime Minister Mrs. Indira
Gandhi. This stamp was entitled as:

Options:

1 % ‘Green Revolution® in June 1967

» = Rice Revolution® in September 1965

= « Wheat Revolution’ in July 1968

4 % “Yellow Revolution’ in March 1966

Question Number : 154 Question 1d : 162653157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 162653158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The stocks of wheat and rice are procured by the government to have a buffer stock. This is done via:

Options:
, w» Public distribution system

-  Food Corporation of India

- = Cooperative societies

4 % Banks

Question Number : 155 Question Id : 162653158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 162653159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which port is known as ‘Queen of Arabian Sea’?
Options:

, « Kochchi port



> % Mumbai port

- = Kandla port

4 % Marmagao port

Question Number : 156 Question 1d : 162653159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 162653160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The major criterion considered by the World Development Report — 2006, published by the World Bank to classify the
countries, is:

Options:
. Gross Domestic Product (GDP)

FI .

-  Per capita income

% % National income

4 % Health

Question Number : 157 Question Id : 162653160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id : 162653161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The only country in the world to officially proclaim the Gross National Happiness as the measure of the country’s
progress is:

Options:

1 + Bhutan

> % Indonesia

- = Singapore

4 % India

Question Number : 158 Question Id : 162653161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 162653162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What was the purpose of the Industrial Policy Reselution of 19567
Options:

1 % Small scale industries



- w [Irade policy

- = Sustained development

4  Regional equality

Question Number : 159 Question Id : 162653162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question 1d : 162653163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The industries that produce raw materials for the other industries are known as:

Options:
1 + Basic industries

- % Footloose industries
=z % Small scale industries

4 = Unorganised sectors

Question Number : 160 Question Id : 162653163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 161 Question Id : 162653164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

All those private sector establishments and the public sector establishments that employ 10 or more hired workers are
called:

Options:
1 % Public sector establishments

- % Trade unions



= « Formal sector establishments

4 % Private sector establishments

Question Number : 161 Question Id : 162653164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 162653165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the essential feature of a barter system?

Options:
, w Availability of goods

- « Double coincidence of wants

5 » Demand for goods

4 = Desire for the goods

Question Number : 162 Question 1d : 162653165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 162653166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An asset that a barrower owns and uses the same as a guarantee to a lender until the loan is repaid is known as:

Options:
1 « Collateral

- % Quarantee

5 % Mortgage

4 = Deposit

Question Number : 163 Question 1d : 162653166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question 1d : 162653167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the founder of Grameen Banks in Bangladesh?

Options:
1 « Prof. Mohammad Yunus

> % Mr. Bhuvanendra Takoor



= % Babul Saha

4 = Mary Houghton

Question Number : 164 Question 1d : 162653167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question 1d : 162653168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many members are there in a typical SHG?

Options:
, % 10to 15

> % 15t025
5 % 101020

4 « 151020

Question Number : 165 Question Id : 162653168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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- % 10 & 20

4« 15 8 20

Question Number : 166 Question Id : 162653169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sifuation when it becomes a burden for the lender to repay the loan and needs to borrower a new loan to pay the
existing is called

Options:

1 % Terms of Credit

o  Debt Trap

z % Demand Draft

4 = Medium of exchange

Question Number : 166 Question 1d : 162653169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 162653170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which form of power sharing do we find the arrangement of the system of checks and balances?
Options:

, = vertical form of power sharing

- u Power sharing among different political parties



-  Horizontal form of power sharing

4 = Power sharing among different social groups

Question Number : 167 Question Id : 162653170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 162653171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Between 1970 and 1993, how many times did the Belgium leaders amend their constitution and in relation to what?
Options:

; = 3times: Unity in diversity

> w 2 times; Equal representation

- = 5 times; Autonomy

4 4 times; To enable everyone to live in unity

Question Number : 168 Question Id : 162653171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 162653172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the language spoken by the majority of the population in Belgium’s capital city.

Options:
1 % Dutch

- % German

- = Spanish

4 « French

Question Number : 169 Question Id : 162653172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 162653173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which year’s elections the Janata Dal had promised the implementation of Mandal Commission Report in its
Manifesto?

Options:

1. % 1990

> % 1962

o ® 1972



4 « 1989

Question Number : 170 Question Id : 162653173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 1990

. % 1962
- % 1972

. v 1989

Question Number : 171 Question Id : 162653174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the country from the following, which has ‘coming together’ federation.

Options:
, % Spain

> o USA
- % India

4 = Belgium

Question Number : 171 Question Id : 162653174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 162653175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When was the The Treaty of Chaguaramas signed by the independent islands of West Indies to establish joint
authorities?

Options:
1« 1973

> % 1968
5 % 1962

4 % 1971

Question Number : 172 Question 1d : 162653175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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v 1973
. » 1968
- % 1962

4 % 1971

Question Number : 173 Question Id : 162653176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the significance of the civil rights movement in the USA that was carried on between 1954-1968?
Options:

, « Itwasamovement against racially discriminatory laws

> % Itwas a movement against black power

- # Itwas amovement against religious discrimination

4 = ltwasamovement against communal discrimination



Question Number : 173 Question 1d : 162653176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 162653177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Those social differences that create possibilities of deep social differences are called:
Options:

; = Crosscutting differences

-  Overlapping differences
=z % Social division

4 = Diversity

Question Number : 174 Question 1d : 162653177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 162653178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who founded the Bahujan Samaj Party in 19847

Options:
1 % Mahatma Phule

> o Kanshi Ram

- u Periyar Ramaswami Naicker

4 % Sahu Maharaj

Question Number : 175 Question Id : 162653178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1984 ﬁ'ag-:lrl FATH et fr Tvar e oA
Options:

> o FAH

5 % AR THEEEHAT AT

. x TG FERS

Question Number : 176 Question 1d : 162653179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Changing the allegiance from the party, on whose ticket one gets elected, to some other party is known as:

Options:
1 « Defection

> % Partisan
 Loyalist

S

4 % Alien

Question Number : 176 Question 1d : 162653179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question 1d : 162653180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which among the following countries is an example of two-party system?
Options:

1 % China

> % India

5  United Kingdom

4 w Belgium

Question Number : 177 Question Id : 162653180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

freafof@a 3o F & Fi9 T7 -5 JUelT &1 38TEI0T g7
Options:

i ® Eﬁ?

o W HLd

B_Jﬁ%ﬂ-

4 % SlesaH

Question Number : 178 Question Id : 162653181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What is the name of the Israel’s legislature?

Options:
1« Knesset

- % Duma
= % Parliament

4 # National Assembly

Question Number : 178 Question Id : 162653181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 162653182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All the candidates contesting elections have to provide information to the election commission regarding the details of
their property and criminal cases pending against them. Such a declaration is called:

Options:
1 « Affidavit
- % Documents

= % Election manifesto

4 % Affirmation

Question Number : 179 Question Id : 162653182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 162653183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the guiding principle of the political party CPI?

Options:
1 « Marxism — Leninism

- % Hindutva

- » Religious minorities

4 % Gandhian Secularism

Question Number : 180 Question Id : 162653183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question 1d : 162653184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did General Pervez Musharraf lead a military coup in Pakistan?

Options:
1 % June 1989

> % March 1996
= « October 1999

4 % JAugust 1997

Question Number : 181 Question Id : 162653184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question 1d : 162653185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Studies on dignity and freedom of citizens in democracy show that:
Options:

, « Promoting dignity and individual freedom

-~ = Promoting dignity and inequalities among individuals

- » Promoting dignity among men and inequalities among women

4 = Promoting inequalities among communities

Question Number : 182 Question 1d : 162653185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 162653186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which type of challenge do established democracies face?

Options:



. w Transition of democracy

- u Instituting democratic government

-  Expansion of democracy

, = Elimination of democracy

Question Number : 183 Question Id : 162653186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 162653187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After the April 2006 popular movement, who was chosen as the new Prime Minister of Nepal by SPA?
Options:

, « Girija Prasad Koirala

- % King Gyanendra

- » Madhav Kumar Nepal

4 % Baburam Bhattarai

Question Number : 184 Question 1d : 162653187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 162653188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does BAMCEF stand for?
Options:

, » Backward and Muslim Community Employees Federation

- » Bangladesh Muslim Community Employers Federation

-  Backward and Minority Communities Employees Federation

4 = Bhutan Mineral Corporation Employer Federation

Question Number : 185 Question 1d : 162653188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 162653189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is the constitutional amendment act on Panchayat Raj Institutions?



Options:

{ « 73™ amendment act

5 ® 74™ amendment act
2 % 16™ amendment act

4 % 64™ amendment act

Question Number : 186 Question Id : 162653189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question 1d : 162653190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does IRDP stand for?
Options:

, « Integrated Rural Development Programme

- » International Rural Development Programme

- » Integrated Rural Development Project

4, = Integrated Rural Democracy Project

Question Number : 187 Question Id : 162653190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 162653191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who said this “The Constituent Assembly alone can produce a Constitution indigenous to the country and truly and
fully representing the will of the people™

Options:
. w Dr. Sarvepalli RadhaKrishnan

- % Jawaharlal Nehru
=z % Dr. B.R. Ambedkar

4 « Mahatma Gandhi

Question Number : 188 Question Id : 162653191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 162653192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The Supreme court can declare any law of legislature as invalid and can determine the constitutional validity of any law
or action of the executive in the country when it is challenged. This is called as:

Options:
1 + Judicial review

> #% Guardian

- » Integrated judiciary

4 # Impeachment

Question Number : 189 Question Id : 162653192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 162653193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For the enforcement of the fundamental rights. the Supreme Court and High Courts have the power to issue directions,
orders or

Options:
| % public interest litigations

> % laws
= « Writs

4 % Dpetitions



Question Number : 190 Question Id : 162653193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
it ¥Rt & 9997 & v, gef==r e 3R 3== =ageEr F 9F Fder, deer T e
o @ oo

Options:

| SSEd TR

Sub-Section Number: 2
Sub-Section 1d: 16265314
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 162653194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the most influential factor with regard to gender identity in early childhood?

Options:
, « Parents, family members and care givers

> % Movies and books
z % Other children

4 % School environment

Question Number : 191 Question Id : 162653194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 162653195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which country has long history of formal education institution?

Options:
1 % America

- » England

%z % Australia

4 + India

Question Number : 192 Question 1d : 162653195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 162653196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is an auditory learner from the following?
Options:

. « Who remembers the information, reciting it back to the presenter

-~ % Who will jump at the chance to participate in a hands-on activity



= # Wwho prefers to see the information for learning

4 # Who is interacting with texts

Question Number : 193 Question Id : 162653196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 162653197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Reading and writing learners learn best:

Options:
, « When they are interacting with texts

> % When they are attending regular tests

= = When they are reciting in class

4 # When art is integrated in learning

Question Number : 194 Question Id : 162653197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 162653198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In addition to academic needs. following is required for adolescent students:
Options:

1 « To Address emotional and motivational needs

- = Toexplain gender discrimination

- % Toequip with latest teaching gadgets

4 = DBeautiful learning environment

Question Number : 195 Question Id : 162653198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 162653199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Gender™ is a social difference whereas “sex” is a:
Options:

, « Biological difference

- % Traditional difference



= % Cultural difference

4 % Sensitive difference

Question Number : 196 Question Id : 162653199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"R Tk W 3R § =9 & R oy
Options:

o % GRS FAR

L« AEpide AR

Question Number : 197 Question Id : 162653200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Vocabulary development™ is an essential component of:
Options:

, « Reading instructions

- % Listening skill

- u Wwriting skills

4 = Language skills

Question Number : 197 Question Id : 162653200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 162653201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The document that sets the standards of Curriculum is:
Options:

1 + Curriculum frame work

> w Syllabus

- % Theory of curriculum

, # Organizational curriculum

Question Number : 198 Question Id : 162653201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 162653202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The real goal of education is:
Options:

, w Learning to learn

» # Get good prospects



-  Become good citizen

4 = Gaining awareness

Question Number : 199 Question Id : 162653202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 200 Question Id : 162653203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Visual and hearing impairment child comes under:

Options:
, « Special child

-~ » Handicapped child

5 » Intellectually challenged child

4 w Locomotor impaired child

Question Number : 200 Question Id : 162653203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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